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 �	� �
	���� ��� �� �� N �� �
��� n �� ����� 
� M �� �
��� m �� ������	

���� ���� R �� N 
� qn−m �� q1 � ���� (n − m) �� � !"�

M = {x ∈ N | ∀i : qi(x) = 0}. #1$

�% pa & �% qi �� �' �(� ���� )	��� pm �� p1 �� �*+�� m �,�- � � !"� M �� &�
�� �� "	 �%���! .�+� �	� � �/��/ �� �
�� N �� ����� �� ��� "�- � � 0�*+��
"	 �%���! .(n − m) �� 1 
� �� �%��
1� 
� !"� 2��� 3��� ���4 �� "	�
+�� �� �%5�6
"	 �%���! & .m �� 1 
� �� �%��
1� 
� !"� 2��� 3��� ���4 �� "���� �� �%5�6 �� ��

�
���7"� �� n �� 1 
� �� �%��
1� 
� !"� 2��� 3��� "��� 	 �� �%5�6 �� ��
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�>�%�"� ?	��� G �� �� M �� ������	
 � 8	�+�

G = Ga b dpa ⊗ dpb. #2$

� !"� ����� �	� �� 96�:� � �*�' 0� @ �	� ��

dS =
√
|Dp(G)| dp1 · · · dpm #3$

3A �� �� .#B1C D, E�$

Dp(G) :=
∑

{ba | a}
[b1, . . . , bm] G1 b1 · · ·Gm bm , #4$

& 9/� 3��1+���F ?	G �%���! �� ��% �� 9H:� [a, . . . , b] &

[1, 2, . . .] := 1. #5$

�� �%�IJK� 3��% ?	G �%�IJK� �� � L	���� � 3������� �� 9/� ����� Dp(G) � !"� 2
	�
�� G �� �%�IJK� �� �� �	�F �� & 9:�� G M1N � ���� Dp(G) �� 9/� �!&� �,��- �
�� G

����� "7�+:� >% 
�� 2
! O�:6 3A
�� 96�:� .9:�� 3 �, �&P ; N �� ����� � 
� �� & 2 �, �&P ; M �� ����� � 
� �� 3 <
�
��� 3 �	 �
��� 2 �� �%�' �(� 
� "	 �%���� �,�&P; N �� ����� �� >(6 & M �� �����

�
�� �+N� ��� �� "72��/ �� ��� M1N �%���Q7>/� �	� �
�+:��

� � ��� .>	� �7"� ��� �� N 
� �� �� ����	
 � 3� �' �� �� M �� ����� � 9R&
3��� g � � �� N � 8	�+� �9/� 2
! �1 ;� 3A � � N 
� �� 9/� � 8	�+� M � 8	�+�

�>�%�"�

g = gα β dxα ⊗ dxβ , #6$

>	��� #�
�	 �% pa & �% qi .0�*+�� �	� 
� �+/� 8	$ �
�� N � 0�*+�� �% xα ��

Ga b = gα β
∂xα

∂pa

∂xβ

∂pb
. #7$
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� U�� � + �� � � 9/� � � 	
 � #M �� � � � ��� 	
 � $ 96�: � #�� "�(6$ �� " ;� �<
�� �� ";��< �	� �� !"� #M �� ������	
 ��$ 96�:� #N �� ����� ��$ 3A #�� "�(6$


� �>�%�"� 3��� ρ

S =
∫

ΩM

dS,

=
∫

ΩM

√
|Dp(G)| dp1 · · · dpm,

=
∫

ΩN

√
|Dp(G)| δ(q1) · · · δ(qn−m) dp1 · · ·dpm dq1 · · · dqn−m, #8$

� !"� 2
	�

ρ dV =
√
|Dp(G)| δ(q1) · · · δ(qn−m) dp1 · · ·dpm dq1 · · · dqn−m. #9$

�
	A"� 9/� �� #3$ �� ����� >% #N �� ����� �� >(6 � �*�'$ dV

dV =
√
|D(q,p)(g)| dp1 · · · dpm dq1 · · · dqn−m. #10$

dV �� �V�� ���% ��$ �9/� 0�*+�� � O��+�� 
� W1+:� 4�� � 0��H' � X< � 5�V
�� 4� � � 0�� H' � 9/�� � 5�V .Y� �� � �	� � � #�
 � 	 7"� >% >(6 �� ���&� � � �*�'

�9! � � 0�*+�� �% � Y:6 �� � !"�

dV =
√
|Dx(g)| dx1 · · · dxn. #11$

� !"� �(�+� #10$ & #9$ 
�

ρ =

√
|Dp(G)|
|D(q,p)(g)| δ(q1) · · · δ(qn−m). #12$

�� ��� �
!�� M �� ������	
 � � � M1N � ���� 96�:� �� ";��< � ���� �& �"� ���+��
�	� �
�� 2
! �%�Z >% #�% pa$ ����� �	� �� �%�*+�� 4�� � 0��H' � 9/�� � 5�V
LF �� �� [ ' 9/�� � 5�V ��� �	� �� �& �"� ���+�� & ��� ���\� � !"� �� �%�*+��

�
!�� �% pa 
� W1+:� 
	�� #�%�+;� � Y	�- �R�& �� &$ 9/�� � 5�V
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mat(q,p)(g) �� �� (q, p) � 0�*+�� �� �Z��+� �� "��*+�� �� �	�F �� g �� �Z��+� � L	����
�>���"� )	��� W^! �	� �� �� D & .C .B .A �� �%L	�����	
 �>�%�"� 3���

mat(q,p)(g) =:
(

A B

C D

)
. #13$

>	���

Ai j = gα β
∂xα

∂qi

∂xβ

∂qj
,

Bi b = gα β
∂xα

∂qi

∂xβ

∂pb
,

Ca j = gα β
∂xα

∂pa

∂xβ

∂qj
,

Da b = gα β
∂xα

∂pa

∂xβ

∂pb
. #14$

� !"� 2
	�

Da b = Ga b, #15$

.�_3A 
� &

Dp(G) = det(D). #16$

.���<>%

[D(q,p)(g)]−1 = {det[mat(q,p)(g)]}−1,

= det{[mat(q,p)(g)]−1}. #17$

�>���"� )	��� mat(q,p)(g) � 3&��& � Y:6 �� �� D̃ & .C̃ .B̃ .Ã �� �%L	�����	


[mat(q,p)(g)]−1 =:
(

Ã B̃

C̃ D̃

)
. #18$

>	���
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Ãi j = gα β ∂qi

∂xα

∂qj

∂xβ
,

B̃i b = gα β ∂qi

∂xα

∂pb

∂xβ
,

C̃a j = gα β ∂pa

∂xα

∂qj

∂xβ
,

D̃a b = gα β ∂pa

∂xα

∂pb

∂xβ
, #19$

��

gα γ gβ γ = δα
β . #20$

� !"� �(�+� #18$ & #13$ �� �%)	��� 
�
(

A B

C D

) (
Ã B̃

C̃ D̃

)
=
(

1 0
0 1

)
, #21$

.�_3A 
� &

C Ã + D C̃ =0,

C B̃ + D D̃ =1. #22$

.Y���� �	� ��
(

1 0
C D

) (
Ã B̃

C̃ D̃

)
=
(

Ã B̃

0 1

)
, #23$

.�_3A 
� &

det(D) det{[mat(q,p)(g)]−1} = det(Ã). #24$

.Y���� �	� ��

|Dp(G)|
|D(q,p)(g)| = det(Ã). #25$
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� 3��&A9/��� �� ��� �R�& �� ����
� "7�+:� �% pa �� �,T	�@ 9/�� � 5�V � !"� 2
	�
�� �b��� �>���
� �� 0�*+�� �� �% qi �� "7�+:� & .N �� ����� � 8	�+� 9/� "N�� Ã

� !"� #12$

ρ =
√

det(Ã) δ(q1) · · · δ(qn−m), #26$

�
�	A"� 9/� �� #19$ 
� Ã � L	���� �� �%�*�' ��

#�$� %�� 5

��� � ����	 
� ���
� 5.1

���� q = 0 �� �;���� �� .�
����/ �� �cN 8	 �� R � d��! �� �
��&� �� 2�� 8	
�� .� !"�

q :=
√

x2 + y2 + z2 − R. #27$

.0�*+�� �	� �� �
�� "���G�� � 0�*+�� (x, y, z)

gα β = δα β, #28$

.�_3A 
� &

gα β = δα β. #29$

.LF

Ã=
( x

R

)2

+
( y

R

)2

+
( z

R

)2

,

=1. #30$

.�_�	� 
�

ρ = δ(
√

x2 + y2 + z2 − R). #31$
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���� � ����	 � ����	 
� ���
� 5.2

.��� ?	��� θ − ξ = 0 �� �;���� �� � !"� �� ξ � Lf��� �	&�
)� *� �� ��&� � g&��� 8	
.0�*+�� �	� �� �
�� �&�� � 0�*+�� (r, θ, ϕ) ��

matx(g) =

⎛
⎝ 1 0 0

0 r2 0
0 0 (r sin θ)2

⎞
⎠ , #32$

.�_3A 
� &

matx(g−1) =

⎛
⎝ 1 0 0

0 r−2 0
0 0 (r sin θ)−2

⎞
⎠ . #33$

.LF

Ã =
1
r2

. #34$

.�_�	� 
�

ρ =
1
r

δ(θ − ξ). #35$

������� � ����	 � ����	 
� ���
� 5.3

q = 0 �� �;���� �� .#9/� 0�*+�� � �h 
H� �� 3A � Lf� ��$ 2� ��U� � g&��� 8	
D, E� �� � !"� ����

q := θ − f(ϕ). #36$

.�_�	� 
�

Ã =
1
r2

+
[f ′(ϕ)]2

r2 sin2 θ
, #37$

& #9/� f � i+�� f ′ ��$

ρ =
1
r

√
1 +

[f ′(ϕ)]2

sin2 θ
δ[θ − f(ϕ)]. #38$
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� ���
� 5.4

3A � P��� 
� & 9/� � �' 3A � � z � � T� �� 
 	� �� � �� � �� R � d��! � � 2� 	�� 8	
.� !"� ���� q1 = q2 = 0 �� 2�	�� �	� �9/� z = ζ �� 2�	�� �� �TI@ & .��Q7"�

��

q1 := r −
√

R2 + ζ2,

q2 := θ − cos−1

(
ζ√

R2 + ζ2

)
. #39$

.�_�	� 
�

Ã =
(

1 0
0 r−2

)
, #40$

.Y���� �	� �� &

ρ =
1
r

δ(r −
√

R2 + ζ2) δ

[
θ − cos−1

(
ζ√

R2 + ζ2

)]
. #41$

���&A 9/� �� >% (	, ϕ, z) �� ����� +/� � 0�*+�� � Y:6 �� �� ";��< ���% 
!"�
.0�*+�� �	� ��

matx(g) =

⎛
⎝ 1 0 0

0 	2 0
0 0 1

⎞
⎠ , #42$

&

matx(g−1) =

⎛
⎝ 1 0 0

0 	−2 0
0 0 1

⎞
⎠ . #43$

�� .��� ?	��� Q1 = Q2 = 0 �� ����� +/� � 0�*+�� �� � !"� �� 2�	�� �	� .���<>%

Q1 := 	 − R,

Q2 := z − ζ. #44$

.�_�	� 
�

ρ = δ(	 − R) δ(z − ζ). #45$
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